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Answer any five questions
All questions carry equal marks

'operators and 1dent1f fersinC? e [7+8]

2.a)  Give the basic structure of a compiler and explain various components in brief.
b)  Describe the analysis-synthesis model of a compiler. [7+8]

~-3.a)  What is-eft-factoring? Write the algorithm.to ehmmate leﬂ—factormg from a. grammar\ P
----- Explam the same/with an. example ko : /o : '

* ot b)  /Considerthe fodowing grammar! % “-"

bexpr — bexpr or bterm | bterm

bterm —» bterm and bfactor | bfactor

bfactor — not bfactor | ( bexpr) | true | false

i) Construct a parse tree for the sentence not (true or false)

n) Is thls grammar ambxguous" Why‘? ........ :
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/ Show that the foﬂow‘mg grammar is bALR(l)
S—Aa|bAc|dc|bda
A—d

A
F

5.a)  What are the three forms of intermediate code representations? Explain them.
. D) Give the syntax-dtrectcd dcﬁmthn of.a simple desk. calculator and, .eonstruct an

_____ annotate_(_jl__ parse tyee for tl‘_1§ input q)i_ rGSSlQI.l (4*?ﬂ)f2 ,,.,_?x [FH&J
..... 6. Explam about syntax dlrected translation of Boolean expressmns w1th‘”;'c1nd w1th0ut
back patching. 1]

7.a) What is an activation record? Describe various components in an activation record

considering a sample ¢ program.
77 b) W’nte dOWn the code generatlon algor:thm and explam brlefiy
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8.

How to construct the basic block and compute DAG for the code fragment? Explain
with the following code fragment.

procedure fun.y.2) |

,-begm -

end main

---00000---




